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Note : This paper is of thirty five (35) marks containing 

three (03) sections A, B and C. Learners are 

required to attempt the questions contained in these 

sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= iSarhl ¼35½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of seven and half  marks each. 

Learners are required to answer two (02) questions 

only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s lkr  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What do you mean by the ocean deposits ? Describe 

the deep sea deposits. 

lkeqfnzd fu{ksi ls D;k rkRi;Z gS \ xgjs leqnzksa ds fu{ksi dk 

o.kZu dhft,A 

2. What is atmosphere and give the percentages of 

various component gases of atmosphere ? 

ok;qe.My fdls dgrs gSa rFkk ok;qe.My dh fofHkUu xSlksa dh 

izfr’kr ek=k nhft,A 

3. Describe in detailt the hypothesis of Otto Schmidt of 

the origin of earth. 

vksVks f’eM dh i`Foh dh mRifŸk lEcU/kh ifjdYiuk dk 

foLrkj esa o.kZu dhft,A 

4. How are the volcanoes caused ? Classify the main 

types and give their distribution. 

Tokykeq[kh dk fuekZ.k fdl izdkj gksrk gS \ muds eq[; 

izdkj dkSu&dkSuls gSa rFkk budk fo’o forj.k crkb;sA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of two and half 1
2

2  marks each. 

Learners are required to answer six (06) questions 

only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, <kbZ 1
2

2  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA 



 [ 3 ] GE–01 

A-11  

1. Discuss the origin of tropical cyclones. 

m‛.k dfVcU/kh; pØokrksa dh mRifŸk dh foospuk dhft,A 

2. Define insolation and maintain the factors that 

influence the insolation. 

lw;Zrki dh O;k[;k dhft, rFkk mu dkjdksa dk mYys[k 

dhft, ftuls lw;Zrki izHkkfor gksrk gSA 

3. What are the main types of coral reefs ? 

izoky jpuk,¡ fdrus izdkj dh gksrh gSa \ 

4. Write short notes on the following : 

(a) Artesian wells 

(b) Drumlin 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ ikrkyrksM+ dq,¡ 

¼c½ Mªefyu 

5. How are earthyquakes caused ? 

HkwdEi fdl izdkj mRiUu gksrs gSa \ 

6. Describe the various rock types on the basis of their 

origin. 

fofHkUu izdkj dh pêkuksa dk o.kZu mudh mRifŸk ds vk/kkj 

ij dhft,A 

7. Classify the mountains. 

ioZrksa dk oxhZdj.k dhft,A 

8. What do you understand by river capture ? 

unh vigj.k ls vki D;k le>rs gSa \ 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct answers. 

lgh mŸkj dk p;u dhft,A 

1. Atmospheric pressure generated on the earth‟s surface 

is due to : 

(a) Earth‟s rotation 

(b) Earth‟s revolution 

(c) Gravitational force of the Earth 

(d) None of these 

i`Foh dh lrg ij ok;qe.Myh; nkc mRiUu gksrk gS % 

¼v½ i`Foh ds ifjØe.k 

¼c½ i`Foh ds ifjHkze.k 

¼l½ i`Foh ds xq#Rokd‛kZ.k cy 

¼n½ buesa ls dksbZ ugha 
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2. Among the following gases which is responsible for 

climate change ? 

(a) Oxygen 

(b) Carbon di-oxide 

(c) Nitrogen 

(d) Helium 

fuEufyf[kr esa ls dkSu lh xSl tyok;q ifjorZu ds fy, 

mŸkjnk;h gS \ 

¼v½ vkWDlhtu 

¼c½ dkcZu MkbZvkWDlkbM 

¼l½ ukbVªkstu 

¼n½ ghfy;e 

3. Which is the most suitable layer for flying of jet 

aeroplanes ? 

(a) Troposphere 

(b) Mesophere 

(c) Thermosphere 

(d) Stratosphere 

tsV ok;q;kuksa ds mM+us ds fy, lcls mi;qDr lrg dkSu lh 

gS \ 

¼v½ VªksiksfLQ;j 

¼c½ ehlksfLQ;j 

¼l½ FkeksZfLQ;j 

¼n½ LVªSVksfLQ;j 
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4. Big-Bang theory explains : 

(a) Origin of universe 

(b) Origin of sun 

(c) Laws of Physics 

(d) None of the above 

fcx&cSax fl)kUr O;k[;k djrk gS % 

¼v½ czãk.M dh mRifŸk dks 

¼c½ lw;Z dh mRifŸk 

¼l½ HkkSfrdh ds fu;e 

¼n½ mi;qZDr esa ls dksbZ ugha 

5. Titan is a satellite of : 

(a) Mercury 

(b) Earth 

(c) Venus 

(d) Saturn 

VkbZVu mixzg gS % 

¼v½ cq/k dk 

¼c½ i`Foh dk 

¼l½ ‘kqØ dk 

¼n½ ‘kfu dk 

Write True/False. 

lR;@vlR; fyf[k;sA 

6. Amazon is the longest river in the world. 

vestu fo’o dh lcls yEch unh gSA 
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7. Jupiter has the largest number of satellites. 

c`gLifr ds lcls T;knk mixzg gSaA 

8. The Tropic of Cancer passes through India and Saudi 

Arabia. 

ddZ js[kk Hkkjr vkSj lÅnh vjsfc;k ls xqtjrh gSA 

9. Earth rotates around its axis West to East. 

i`Foh viuh /kqjh ij if’pe ls iwoZ dh vksj ?kwerh gSA 

10. The time difference between longitudes is 5 minutes. 

ns’kkUrjksa ds chp le; dk vUrj 5 feuV gSA 
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